EARAROBREBRT —5 XN—ZXBISH—F

202410858 (£) 14E1ER3H

Ko nsEmarE C18HBIER YSR—K EREE IR
[xE&] 15:420,000H  23&:134,000H  3#&:67,000H  43%&:50,000MH  5i3&:42,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
ATTUU— it 6 ?ﬁjxﬂ 1:(3_1).0 4332 |39.2| - 9 (4311) fig% &R
R:70OYHh7T B:HITI53)— =hEENE
FolwNUb— 4 g!;%%br@ 1:(311).2 9-8-7-5 |39.0| - 1 (4;7) %ﬁ%é &R
RiUFAVF4—X B:N\ERDR A 8L
= Ty ty 4 | BHUIER 1:31.2 5-5-4-4 | 39.2| — 3 473 | #HAE® (&R)
AEIRIVT 5.0 ") ¢ |BEEX
R:I—=9—0OYRY B:ZAF55 RS
TASTIVIN LA gzu%o‘%éiﬂ 1:(31).4 1-1-1-1 (402 — | 4 | 4% %“Jl?gg &R
o 1 _ RS
RIXIVIATFAwIDAUT7— B:RANU—KST 2 MRS
5l5lg| IR/RR—U— i o4 g(ﬂ)@gﬂa% 1:(321).5 2-2-2-3 |40.2| - 6 | 442 %ng &R
RIVIHAYI—R B:RARORU—N\—v ) mg
~ =~y b — vy 7 | BRERAHE 1:32.1 6-6-6-6 |39.8| — 5 490 | HIESLAE (&R)
681\ y¥ryb=a %.0 ) (o) |AvEEA
RiALYIVR—5— B:IIYTAZU7 estiivee ]
I 45 | Pt 1:32.3 12-12-10-8 | 39.6 | — 7 | 4an | FHE—E &R
AREREEA 7:74 b 56.0 (1172 @) | W) o747
RiW—=5—ywF B:Ea7FvILvhb /YU Tr—1L
LR — o6 | BRUEHD 1:32.3 8-9-9-8 [39.6| — | 10 | 462 |EEME (&R)
8179 /{:t)l//‘l'\ A _ 56.0 NF) @3 AP
RiVEWDF— B:FPUIFA AN
JI1=—25— i 4 | RHER 1:32.4 7-7-87 402 - | 11| 431 |BEET @R
91812 IJ\{E\ Ry . 54.0 %) () |BHRB
RVPRIVIA B:IREAL FHER I K
. w7 | SHERE 1:33.6 |11-11-12-12| 40.9 | — 8 | 49 |@EH— &R
Eﬂ 4 b‘?_ JJlJ=I~_ . 56.0 ®) (6 |FHEIE—
RIVIRI—ZZRI— BDAILDF SRS IR
Nlsls| 24 X994 LR 5 3%?‘9% 1(73?:)6 10-10-11-11/ 40.7 | — | 12 | 459 %igf &R
RFDEYTI—RY BiH4 R TOY ® g
1207110/ P=RA Y71k 5 ?é%(.)ﬁl 1:(34).4 3-4-5-10 | 42.5| — 2 | 487 E{EE@% &R
. 4 HERER
RRVIRFA9TIFUT— Biktd /NF 2 | spgin
@ 11— —®BIEfI
13—7F— 2,6,10,3,8,11,12,9,7,5,4,1
20—3F— 2,6,3,10,8,11,12,7,9,5,4,1
30—7— 2,6,3,8,10,11,7,12,9,1,5.,4
43—F— 2,3,6,8,7,11,12,(1,9),10,5,4
o ILRE
B B 3 4,170 | [ 91 R 3-7 3,580MH % 3= 3-6 3,340 3EE 3-7-8 12,900M4
7B B 3 540M 3-8 1,420 B 3-6 10,670 3EH 3-7-8 167,240
7 110 7-8 6804 F5 E 3-7 12,960
8 210M4 =51 3-7 26,380

ABIC OV TRUTEREERRODDZE. THRIIZEL.




